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משוואות  טריגונומטריות
· פתירת  משוואות  בעזרת  הזהות:  sin2x = 2sinx.cosx.
                                                                                                                        
משוואות

1. sin2x = 2cosx
2. _____.______ = 2.__________
__. _____.______ - __.__________= 0
__._______(_____ - 1) = ______                                    
cosx = ________                                                       ___________ = 1
x1 = _____ + _______                                           x2 = _____ + _______
נאחד  את  התשובות:  x = ________ + ____________

2. [image: image3.wmf][image: image4.wmf]sinx.cosx.cos2x = ⅛
2._______._______.________ = ________
__________.___________ = ¼
2.__________.______________ = _______
sin____ = _____                                               
4x = ________ + 3600k                                                   4x = ________ + 3600k     
x = _______ + ______                                             x = _________ + ________

3. sin2x + sin2x = 1 
______ + ______ - ____ = 0
 
-________ + _________ = 0
-____________ + 2._______. _________ = 0

_________(-_______ + ________) = 0                                   
____________ = 0                                           -_______ + 2_______ = 0
x2 = ________                                                   -cosx = ________
cosx ( 0.  לו  cos = 0,  מהשוויון
גם  sinx = 0.  לא  קיים  x  עבורו
sinx = cosx = 0,  שהרי  sin2x + cos2x = 1
לכן,  cosx ( 0.  נחלק  את  שני  האגפים  ב  cosx:

[image: image1.wmf]2sinx

1

____

=

  (  2tgx = ____  (  tgx = ____
x1 = _____

· תשובה :   x1 = ____________ , x2 = _____________

· תשובות:  1.  900 + 1800k         2.  7.50 + 900k  , 37.50 + 900k      3.   26.560 + 1800k   ,  900 + 1800k
עבודה  נעימה
sin2x + cos2x = 1
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